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HELLO EVERYONE! .
Our subiject is translation. Honestly, 1 don’t_care_ about wbat kind of
translation i is becausc at the end it is translation, interpretation, or text
translation, at the end, they are the same. .
In this type of translation, I will focus more on how to produce this Fext
translation, but from time to time we may change the typc of trgns%anop,
so we can have some sight translation and consecutive translation. This

may increase your experience in translation.

So let’s translate some seniences:
$3 00 Aol dilalu 4303 ¥ Gl Les (51
Student: Which one of these doesn’t consider an indirect authority?

Instructor: _
When we want to translate, we must separate the sentence into chunks.

second one(s_silbe Aol asklu ,iiai V) first one (ks 1)
We have a cliché: Which of the following isn't considered??

Simply, we can say:
Which of the following doesn’t have direct authority?

Which means is not direct authority.
b pilae ddalis ud 4313 aay g 43l (gl 5 plee Aol Allabiy yiaS Y
Be as short as possible and go straight to the point because the reader
doesn’t like to read a lot of words. Make your sentence as convincing as

possible.

*

Next sentence:

daalnl g8

Student:
At university. A\
Instructor: Good.

The word ‘university’ is already defined so we don’t have to add “the”
and it’s known for all people.
Let’s translate another sentence:
sadadady a9 e Juaty (pudeladl gl #J@Q‘Mtw‘w‘ﬁj
Student: In the educated organization we can find. ..
Instructor: Separate the sentence into chunks.
.second chunk(4askiy v g L Jit) first chunk(oselall g2 220)
Student:
The desire for the workers to accept and apply the new.
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Instructor:

First of all, he used the word “worker”, this word means “dale” not
“cilaya” The worker is the person who is working in the factory, and he is
different from the person who is working for the organization. As you
noticed, we said ‘“Aduidl Ldaidi® g0 s completely different from
“workers”. That’s why we choose “employees”.

We can say:

We can find that the employees have a desire to accept and apply the
new.

LN oe calias s e )
The word “desire” doesn’t fit the meaning, so here, they are talking
about the “willingness”
] alaxiay N‘—"ﬂ 43 Lgl
For example, I want to have a car or I want to change my car. “this my
desire”
When I say “I’'m ready to work hard to change my car” so I’m willing to
work hard.
Aslo, we can say: )
The employees have the will to accept and apply the new,
*

Another sentence:
rpe b pllan g LA planl) 2l dd Gyl (1 elall @udll ey
Student: '
First chunk(4# s 5 63 pusll i), second chunk (S pUaill 4illy) and
the third chunk (= 4 plai 52).
The scientific section which you are studying according to the total

system is considered a sub-system.
Instructor: let us read:

nnA-_'m‘ U-UJAJ:I (_5&‘.” g-d.Ll." Ml ,_u.l..l'_ -

The scientific section.
What told me that this is a science not an education?
gl Juanill Gudy cloabatial g Le gl (4 G i Al csloadl anaill) Uia aiads
" "Educational section” Js Ol (siSas ¢ galadl acill ail J gl il L,
What department which you are studying in it/ at at/ inside it.
s SV S Sl (a3 Wy eyl Ll st sl g
Student: Could we say: “according to the whole/ entire system, your
studying a sub-system.”
Instructor:
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Ok.
Al e ot J Sl 03 s
We can say,

According to the total system, the section you are studying is a sub-
system.

This is what we call English style.

Honestly, you can’t interpret word by word, you must knowledge about
what you are interpreting.
G 53 yaipall e e ghaa sl (5% Of 50 eizall () J ol bt ¥ el

AT lie T ol 4y el L

Before you enter a conference, you must have enough practice to get
into a conference, and if you want to be an interpreter, first, be a co-
interpreter or assistant so you can back up the original interpreter, or you
can have a short term as a kind of training because if it 1s the first time, it
will be your last conference.

* ko

Next sentence:

Alaally ‘q:iﬁ.”_g aslaldly delandl aalal 2 wwld! Welldt e dalall Oleliat!
.3\31-&1‘3

Student:
Public beliefs of the suitable behavior are the culture of the
organization, transparency, morals, justice, and equality.
Instructor:
She said “morals”
0555 o Saall (e Ll 3 "values” b () 95 Ch g gd AENAN a8 1) o oSy
Agadas S AENA) A8 la
the " s "the culture of the organization" :Jsb o} (e dakid) 44
"organization’s culture
L e MLWUJ&MMNMAJJLF\JJMWL&JJ}M‘J Al cle sl
hliie) o ST culaiieal) olaily 4ty Walina o} e il aa 45 e S "beliefs”

Mconvictions” W dea_yi Juail 081y
sk

Next sentence:

(Oebelall BSLNT 1 gLul) Aslg)l jsbuall (o et ‘_,@
Student: :

One of the following is not of the significant sources of the moral
behavior of the employees.

Instructor:
afiol VLol e
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9 "ethics” Ui Ugd gulale Upal 4l Wl (<1 sl JSi (3AY) 4 “moral” 4l
At e Ll (gt g chiigal) G3AYI 4 "career ethics” Jie
So we say:
One of the following is not a significant source of the ethical behavior

of employees.

*

Let’s continue:

Student: The organization where they work for.
Instructor: Ok. You found another way to translate.
We can simply say

The organization they work for.

Let’s continue: ;

Awd ) Olala gl

Student:
The number of competing organizations

Instructor:.
You don’t have to say the figures, you can simply say:

Competitive organization.
[ ceguuts] & glalalt
~ Student:
Employees themselves.
Instructor:
L Al 2o sl 2
Student: The surrounding environment

Instructor: ,
Why don’t you say “external”? saying “surrounding” does it mean

“external”?

A a g dlagaa Ll LWL
Foke K
Do you know anything about “Wreck Diving”?
What ‘s the meaning of “Wreck”?
Student: falha
Instructor: And “Diving”?

Student; (o sl
Instructor: ."sUsall ya " Mad ya Lily callaall el y Ly il Lean i lasla
' % 3k
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Let’s start with the first text:

)9 abuall dol e telad| o1y 33gmmel) oLl 2 Aygllas cuys Sl wo g3 ¥
o Y1 (PADI) (d sl agill ayde bl o pllamdl jogé 2 pauaial] ua‘}‘-”
Sihlgs @l Adae was (e 3 Y Bgyl 2 pasill Gle Gl I BB sl
Ll o 5T gyl god auill 33 )3 aedle wilia 31 pllasel! s @lazs 3 yas
ELENs 3)Slly Jendl plasianly saiall dayyS 28Ul cuss s ablgll pan edu el 58
3y geadl oldl 2. A clds e ol Lgule Of Lgalss Jguw Sblga o 2y
Bl 51/ 5 5 guantl oLl 2o Copul oibuds ALin] lll e wli€ey sl plaudl e ol
il @lylge anlya e Byguanll oldl 2 )it lude Jois ol (Sey oliS Losu
2 ol s B elim Sl Gralyill Gle 7y of (Ser Bl alal asg
allasll hogd B g gyl (46 3,0l Ll alusawly alladl GLAY Glshyals L

bl JSa 2o ablall Gle gaapuatl CSLall asie el oY el 2
el ol Jualgilly (o sill alara alusiul Glo 5% @ e iplazll 2B ge moxil
culall galadt e Blasdly

alaiadl HUas Yl wpua) alledl @ols ol Glo (goouill muw SN 3 ,al 2.,
(BORyyes @ Oe el aseal @il3 aSle dalsh wussy allasel] Al s @y lgiossy
A Ogesiie gl 21N e gl

Zalal! e HLE i Balduly SLBETIY pte. condll e Bils eanuts 2l Byl Ay
B (as) Ao (pdily Oplaland ALl Gogill B,a5 2 L Lallasl) 2l
oplas] yantl allasll 395 2ol allasl o sd B ,m% (gaginy Ogelils el gl allaxll
wwesill Gayd pa lgdasy Alai=ll

fdal e posill 2 1y etun O BIS elsa @guly @giluyot Lygil (uill Cralsill oSes
39 33l W1 (i o sl Aae O oLV 2 il iy Ll gt ) Ting 13yl il |
@ Ol palse JS o 33l uasadl culadl ol gl Lo gill dalaied daiiall W) aus
PP RES M|

O citl Gle s B gmill ol 2. o gall plas 2 b yeatll La e LB yaing
SLed Sage muay (K adlall 31 cbilie el

* ok ok >

Aalaiay LuS.u Cus u.\&_)-\;.nn u.a_}d} U"J'M Aagy Oladal A "PADI" _)l""ny‘
SbeaiaYls Jalsll aull o2

First sentence:
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592 pLAN Ul (pe Busdaill g/ 55 ganadt ol 2 2 it 3o Claalon g3 ¥
o & - > o g5
(PADI) Or8 yosld o gall iy K %1 (o ‘AUa.-hMu XY ‘__,a patasll ol gall

Student:
There are no trains in the shallow water required by PADI.
Instructor:
13 "shallow water" Us awaii Y cyai oS0y dua ol sl 1 "shallow water"
| (il Lgiae o (ind
vasd dlta ja el Lo Ll Gt ,a, (LI gh (S5 8 "surface water”
"shallow water" oY Alaall sbuall aadl Y Ul alae ) o vasdl il ) mlall cass
dae o plhall () o sel Cigu ol Cum a6 gl s Ll Lia Alainll sl e
L PRI LJ‘ Jumdyl P [BETE lﬂ_v‘ =2 (A "retained" C.Un..a.n Lual oluall
Adolaa g 4ilas L3l gl "confined” sl "closed”
Student: .
There aren’t training sessions that are required.
Instructor:
<85l (s g daae 2l Led 4l (6 "session"” (eed Ala Ll WL
Because oxygen cylinder has a specific time and they have to finish
their exercise between this time and this.
In this context, we are confined so we can’t use “necessary”, it’s
required because there are a lot of equipment, logistics, and exercises and
techniques. There are a lot of things you have to do before implementing

this exercise.
glhuas I "superficial” padiut ol "surface water” Ll LS U dabl) sl
paadial gal gl 3 53 2Ll Jaf (0 "Scuba Dive" e u OB
Specialized diver fuesasial (ol sl (e J i 13
In wreck dive albaall o e i
(PADI) Professicnal Association of Diving Instructors:
O iaa) e gall o las)
o SN Gany  glay o i Y el SPAD]" pellaas Lails pasiial sl sy Ja
‘ Ade Gaah el Lelas oot Y 1<l sl
Now, let us translate the whole paragraph:

B9 pLal ol (e Tuodaid) 51/ 55 gmandl sLll 5 Bagllan iy yud Golualsn g3 ¥

ui Y| (PADI) O ya-dl (o gali (Roe Alsdl e plest Uose L_,s pa-asal) polgall
bt Bubes wdald (o W33 Y g yls B el e o puntt SUall Siyud Ly glat
8T gl god pudndl B (g sl Mo cibaas ) plastl e CLosis 3ugus oiylga

Student: '
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There are no training sessions required in the closed or §u‘rfac§ water for
the wreck diver from the Professional Association of diving mstru'ctors
(PADI); however, developing the ability of apprentice s?udents f:hving
conditions that don’t complicate teaching new skifls debris scanning or
navigational techniques before advancing to more challenging conditions
is sound.

Instructor: Good.

Why you didn’t use the word “trainees” instead of “apprentice”?

Apprentice is the one who is skilled and trained to do a job, so the word .
“apprentice” doesn’t apply to training on wreck diving because it applies
to a job, not to a specific trained.

You must search In the dictionary the words that come with this word
because in this context, we are dealing with a hobby, not a job.

How did you translate “pUsall muss”?

Student: Debris scanning.

Instructor:

You can’t use the word “scan” because you are not reading information.
Also, you can’t use “survey” because it’s related to gaining information
about an issue. The most suitable word here is “wreck mapping”, before

. diving to the wrecks, you need to map it. For example, it’s 100 meters
long, it’s rust with edges on the left corner or there are holes that are made
by sharks. All these issues must be mapped before diving. You have to
draw a whole picture of the wreck before dive into it.

- wreck mapping: sUsall peue

Let’s continue:
xSy BHLENg @)y Luodl pladiuly Gudall day S LS Com Lo @llgll Liaas
e 51 By guanth oLl (B B yus Sl (pids 1yl Lgujle Oof tgalad Jguus @ilylge on

Myl plasdi

What do we mean by “saiall Ly ;79

It’s to decide how long it is the exact distance from the surface or how
long this wreck is. That is why every meter or ten meters, I tie the knot,
but this tells them about the distance. You can’t be a professional diver if
you don’t dive or train on the surface.

Who would like to translate?

Student:

Some underwater skills such as tie the knot using the rob and pulley
signally and navigation are easily would learn skills if the trainee practices
them during sessions on confined or surface water, firstly.
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Inslﬁxctor:
Many of you used the “rob and pulley” but the fact is they are “line and

reel”, not rob and we use this expression only in this context.
One of you said “signs”, you can’t use this term.
Using “student divers” is better than “trainees”
Omle O e 3 yaa |yaal g al g6 b il Of (N 3LV ol 0a
Let’s continue:
£lED Lo Auolawll i/ 3)geastl oLdl 3 o)yud Oluls ddls| IS dey (e y
dayy pdaddl Shlgs Zanire o 5)guasdl sldl 8 pajudll Slals Jodd Ol Sans
B bl (98 MU BLAE HISITl fueleddl e 7 3E OF (Ses Byl pled)
plasdl (o 0d b g o ddl Jud 3,50y Jusdl alasiuly pllasdt Gt Slelyal s

Student:
It’s possible to add training sessions in the defined or surface water as

you wish. Training sessions in the defined water review diving skills. It’s
maybe suggested that divers should study navigation techniques without
entering the water, procedures of wreck penetration, and using the line and
real before starting the wreck diving. '

Instructor:
Ok, that’s fine.

AnSUly (3yLE N1 g (3,5l Jumd) plldvily 3udall das,S abll Csd Le Slylgll (o
e ot 5)guamtl oldl b Ton )l Sluds (eud 0juill lguHle Of Lgelad Jgun Olhlge oo
gl et
S Lot Ruodaudl 91/ 5 5)gasmtl obll B8 cojyud Oluls Aala) Gl1d vay Saay
dasg pulaill Ollge danlre le 3ygantl oldl (B o)yl cluds Jebiis of Saay
Leelll L gstl 093 Ao GLaE ISk Gualsall Gle g, of oS 355 alal)
plasdl 40 9é (b g g phdl 1B 5,509 Jusd! alisduly allasdl 1,050 Siled ]y

We say:

Some of the underwater skills such as knot tying, line and reel use
signaling, and navigation are much easier to learn if you have student
divers practice in a confined water session or on the surface first. |

You may add confined water and or surface sessions at your
discretion. The confined water sessions may also include a scuba skills
review, After completing the course, it's suggested to divers to dry-
rehearse navigation techniques, wreck penetration procedures, and reel
and line use before commencing wreck dives.

ok k
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Next part: _ —
bl JSi TS SO le O gayuall oBlall datay o gild To¥) Dy et

Gl ot Juol sl g s gidl Sltas plusiul le 9920 @ oy pllasdl ad so iy
RUETEN (V12N | I P JQLA,JU

Student: : _ oy )
Trainees depend on, first experience, their navigational skills

fundamentally to locate the wreck. Then they are training to use diving
equipment, connect under the water, and preserve ncutral buoyancy.
Instructor:

As we said, “student divers” instead of “trainees”.
“Trained” and “trainee” are completely different from each other. The

first one means that the student has finished his training session, but the
trainee is training right now.

You should put “at the first experience” at the beginning of the
sentence,

Saying “navigation skills” is better than “navigational skills”. In
English, you can’t translate one-to-one translation, because not all words
can be translated to one word.

. They communicate, not connect. Also, it’s better to use “maintaining”
Instead of “preserving”.

We say:

On the first dive, student divers mainly use their navigation skills to

locate the wreck, practice using their diving equipment, communicate
| underwater, and maintain neutral buoyancy,
%

Next sentence:

- 5 I P = -
fhu%.ﬁh;w.HahdruthAAb.J}b‘JL‘AHJ¢n|C't!%gum:g,*ﬂlgy
bovis &g @8 (9 iegd dsal o1 ASle oz ey pllasll Aay yi oy g gy

R 094 98 g (LAY e sill

perience, students swim along with the edge to identify
aarr:gef}?’ map the wreck, and identify landmarks which
’ °h survey the penetration diving that they arc

Instructor:

dy attention that ag
devices to make a sc long as they are students, they couldn’t have

an !
for the wreck, but if they are professional, they
Translation 4.1+2 10 _‘37_1:-1-/
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could make a scan for the wreck.

penetration dive.

Next sentence:
B! dees O9dding Oslalasid dayl 1 ya gatl 3y 0 i Lol pllasnl) Gn s 1531 ol
plasdl sgu o)l pllastl ogd 2oy ¢ g04as, Ogelaiy gl i altastt aden
0o ATl 3358 s Loty dlaadl oyllas Uil

Student: |

In the third experience, the trainees practice how to go around and pull
the line back out from the wreck. Through the fourth cxperience, they plan
and exclude wreck penetration actual diving process or they organize and
do wreck diving attempt out from the wreck to identify its potential risk
and avoid them with the diving team.

Instructor: Good.

We say:

On the third dive, student divers practice the deployment and
retrieval of a penetration line on the outside of the wreck. On the fourth
dive, student divers plan and perform an actual wreck penetration dive
or they organize and conduct a wreck dive outside the wreck identifying

and avoiding potential hazards with their dive buddy.
*

Let’s continue:
04 Gogill b Iy anis O BIS slga @gouly pgiluoud lggl pddl prslsall pSey
| ohd joge dulee gt By Ll gt Laby uinlly 2acll s
Vb (ogé Tulen JSI ollf b elandl by Lol ognidyt Laby dyuidly Raill o

(82252 000 uasifl Coalod) T gud il o pill dalasdd daicall W13} pue agu> Solny
“ . - sdalasiul @3 O} (alse JS |

‘—R . " - . & ¥ ¥, .‘ _j h -
the no-decompression limuts haiall Al ) pae 2y
StUden . , |
The i eir training and enough air can

The diver student who had finished th |
rience as they wish. The ti

he no-decompression

et A me of staying in
tontmue diving for joy and expe limits of the
® Water for each dive does not exceed t

e T T )1 2022/ T

Lz 11
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9

recreational diving or the personal computer that exist with each diver if

used. : '

We say: — - —
Divers who finished exercises with sufficient air remaining may

continue to dive for pleasure and experience at their discretion. The
bottom time on each dive should not exceed than no-decompression
limits of the recreational diver planner or each diver’s computer if used.

Last sentence:
ol le Guaty A g2all obdl B o gall iyled B B el Wl Ge LAl pasy,
Laie Mo ja pray 53 L1 ls¥ Clidlaze yglas o

Student:
Regardless of how they conduct in the open water diving trails, the

training must demonstrate the following performance requirements in
order to be eligible for certification.

Instructor:

We can say:

Regardless of how you conduct the open water dives, student divers
must demonstrate the following performance requirement to qualify for

certification.
Thank You

dpdhll Glosal] sailell dunwgo
Lol puid - agidoll puleill - sailall &4iSo
wl N 343 -5 rg il Aasa o
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